PRACTICE Factoring Name

1. 4*-9 26. 4x> — 40x + 84
2. 36x* -y 27. 16k — 49
3. 18y* + 21yx — 4x° 28. ¢ —11c + 30
4. 6 -Tt-3 29. 6s° — 29s + 35
5. 4x*—12x+9 30. 25w% — 36
6. x"—x—72 31. 4/ = 20r + 25
2
1. 2y =Ty +5 32. 157% — 23rs + 4s>
2 2
8. x"—y 33.x*—8x+ 16
2
9. 10x"~x-2 34.9%% + 12xy + 4
2
10.327 =3z -4 35.2d>~ 11d - 6
11.9x% + 6x + 1 > 2
12. 3% + 15y + 56 36'25; e
i 37.2/% + 13r + 20
13. 2w% + 9w + 10
wokow 38. %% + 14x + 49
14. 26> + 10x .
39. 15 = T7r—=2
15.6x% + 11x + 4 )
) 40. 13x> = 57x + 20
16. x" +8x+ 15
, 41.y* - 49
17.3x"+Tx+ 2 )
18. 4¢% + 18x + 20 42,0 =649
2 2
19. 0k — 1 43.75x" + 210xy + 147y
) ) 44. 36m> — 96mn + 64n’
20. 2x” — 19xy + 42y ,
21.x° + 3x 4549w
46.9x + 8x + 25
22. 1447 — 495 Px+ B4
23. X +5x+6

47. Determine two values of & so that
24. y(x + 5) + z(x + 5)

each expression can be factored.

25.x* +6x+9
a. ke —16
b. xX*+kx—15
c. X +kx—18
d. 12x* + kx + 14
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ANSWERS

a-9 = (sBXaa-3)

36x* -y = CG:*X*‘:DKQ%-\:)) 7.
18y” + 21yx —4x* = (33 + %LXQ)y- 9L> -3
62— 713 =(ab-3Y3Ex) c‘@ T
4l -12c+9 = (Qe—3)" “
X—-x-72 = (‘1.-0\1’.1‘5'%} . s o4
22 -7y+5 =3y ~s)Xy- 1> \f@ 2
-y = (1% b}(u—g} O,
102 —r—2 = Cam— \)YSAtL) i
372-3z-4 not™ Fossf(-,[b

2\['2?
O +6x+1 = (39(,‘\7 \)’L O(_J; aal
Y +15y+56 = (gt }Xj&g)
WP 40w 10 = (AwEt S W)
23+ 10r = dm(oL s)

)
6+ 1lx+4 = (_39(.—{‘\)(%1.[_%)@@139-
Prseats = (xes)a3) G

36
38

Name

4% —40x +84 =1 (1’*— o + 2\)
= -3

16K -49 = ey =)

= 11c+30 = C‘ﬁ}_&"?’)

6s°—29s +35 = &s-?i%s—:?')
2502 =36 < (Swtb)Sw—6)
47 = 20r + 25 z@,,_s-y
15/ = 23rs + 45 =\3+ —R?ﬁg‘r_gB
P-8x+16 = C‘:L—*b\')"

%
0+ 12xy + 4y = (3= ’e?’D)
2 - 11d-6 = (281 (4-6)

257 =365 = (Sr+EO)(Sr ~6s)

22+ 13r+20 = (artSYr+4)

X+ 14x+49 = (9({*9')"

152 -7r-2 = 3v—@(§r+()
13 - 57x+20 = (Bx—sX=x~Y) sz

2_49 = _ yay)
3 +Tx+2 = @’JL’(')XCL‘['L) 41-y2 9 C:)ftsrX\) jD ,L_kqmq*. J
4@ +18x+20 =2 (2 + A HLO) 2.0 -6cx9 = (A2 3(31({;_{'?33%
K1 (s =2 (exes) Rt 43.75x + 210xy + 147y ":t?qmz_zym,(.,@
.22 19’ 4;05\)((3%'3\1 %:)) 44, 36m> — 96mn + 64> = A (Bm=Un)T
L2x7 = 19xy +42y" = (g xL—
2 J 45.4 - 9y? = (&+3w122~3w>
X 43 = ‘:L(‘X‘f%} ]
1447 — 498 = (\er +%>L\1\‘*?\’>7 46. 01 +8’“g;225§ " not- fusaé(&
13 |
X +5x+6 = (_‘i.’ﬁlli‘l’%)
(x+5) + 20x + ) (:1{ SX ‘E"t> 47. Determine two values of & so that
D +s)+zx+s) =
2 4 6x 49 ( 3))7, D each expression can be factored.
. X X = 1-&
a k-16  k=1,49, -
% b C+ke—-15 k=M, T2
PRI Prke-18 k= ¥ EF,ED
1 9
d. 12 +ke+ 14
12 23 23 1y
1 b M T2 0y

k= §, 31,26, 169

2e), 46 3¢ 34
2% Qﬁ)) Q?i J(4k)



